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General  Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) and (D) and indicate your
correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

5. (a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.
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(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only.

6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth,
Earphone or any such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English version
will prevail.

8. Write your Question Paper Code No. 67/SS/A, Set u on the Answer-Book.

gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$
g~go D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. dñVw{Zð> àíZm| _o§ AmnH$mo Mma {dH$ënm| (A), (B), (C) VWm (D) _| go H$moB© EH$ CÎma MwZZm h¡ VWm Xr JB©
CÎma-nwpñVH$m _| Amn ghr CÎma {bI|Ÿ&

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

5. (H$) n«íZ-nÌ Ho$db A§J«oOr/{hÝXr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘|
CÎma Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. narjmWu H$mo narjm hm°b ‘| H¡$ëHw$boQ>a, ‘mo~mBb ’$moZ, ãbwQy>W, B¶a’$moZ O¡go {H$gr ^r Bbo³Q´>m°{ZH$ CnH$aU H$mo
bo OmZo H$s AZw‘{V Zht h¡&

7. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&

8. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 67/SS/A, goQ u {bI|&
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EARLY CHILDHOOD CARE AND EDUCATION

àma§{^H$ {eew XoI^mb Ed§ {ejm
(376)

Time : 3 Hours ] [ Maximum Marks : 80

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 80

Note  : (i) This question paper consists of 43 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

Q. Nos. 1 to 16—Multiple-choice questions (MCQs) carry 1 mark each.
Select and write the most appropriate option out of the four options
given in each of these questions. An internal choice has been provided
in some of these questions. You have to attempt only one of the given
choices in such questions.

Q. Nos. 17 to 29—Objective-type questions included Reading
Comprehension Passage (Q. Nos. 17–19), Match the Column (Q. No. 20),
True/False (Q. Nos. 21–23), Fill in the Blanks (Q. Nos. 24–26) and One
Word Answer Questions (Q. Nos. 27–29). An internal choice has been
provided in some of these questions. Attempt questions based on specific
instructions for each part.

Q. Nos. 30 to 35—Very short answer-type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

Q. Nos. 36 to 41—Short answer-type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

Q. Nos. 42 and 43—Long answer-type questions carrying 5 marks each

to be answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 43 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h§¡&

àíZ g§»¶m 1 go 16 VH$ ~hþ-{dH$ënr¶ àíZ h¢, {Og‘| àË¶oH$ H$m 1 A§H$ h¡& BZ‘| go àË¶oH$
‘| {XE JE Mma {dH$ënmo| ‘| go g~go Cn¶wº$ {dH$ën MwZH$a {b{IE& Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën
{X¶m J¶m h¡& Eogo àíZm| ‘| AmnH$mo Ho$db EH$ H$m hr CÎma XoZm h¡&

àíZ g§»¶m 17 go 29 VH$ dñVw{Zð> àíZ h¢& BZ‘| em{‘b h¢ arqS>J H$m°påàh|eZ n¡goO
(àíZ g§»¶m 17–19), H$m°b‘m| H$m {‘bmZ (àíZ g§»¶m 20), ghr/JbV (àíZ g§»¶m 21–23),

[aº$ ñWmZm| H$s ny{V© (àíZ g§»¶m 24–26) VWm EH$ eãX ‘| CÎma (àíZ g§»¶m 27–29)&  Hw$N>
àíZm| ‘| Am§V[aH$ {dH$ën {X¶m h¡& BZ àíZmo| H$mo àË¶oH$ ^mJ ‘| {XE JE {ZX}e Ho$ AZwgma hb H$s{OE&
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Select and write the correct answer from the options given :

{XE JE {dH$ënm| ‘| go ghr CÎma MwZH$a {bI| …

1. Bal Mandir, a pre-school, was founded by

(A) Gijubhai Badheka (B) Mahatma Gandhi
(C) Maria Montessori (D) Tarabai Modak 1

~mb ‘§{Xa Zm‘H$ àr-ñHy$b H$s ñWmnZm {H$gHo$ Ûmam H$s JB©?

(A) {JOw^mB© ~YoH$m (B) ‘hmË‘m Jm±Yr

(C) ‘m[a¶m ‘m|Q>ogar (D) Vmam~mB© ‘moXH$

Or / AWdm
Integrated Child Development Services (ICDS) was launched by the
Government of India in

(A) 1976 (B) 1985

(C) 1975 (D) 1966

EH$sH¥$V ~mb {dH$mg godmE± (AmB0 gr0 S>r0 Eg0) H$m JR>Z ^maV gaH$ma Ûmam {H$g df© ‘| {H$¶m
J¶m Wm?
(A) 1976 (B) 1985

(C) 1975 (D) 1966

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&

àíZ g§»¶m 30 go 35 VH$ A{V bKw CÎmar¶ àíZ h§¡, {OZ‘| go àË¶oH$ Ho$ 2 A§H$ h¡§& àË¶oH$
H$m CÎma 30 go 50 eãXm| ‘| X|&

àíZ g§»¶m 36 go 41 VH$ bKw CÎmar¶ àíZ h§¡, {OZ‘| go àË¶oH$ Ho$ 3 A§H$ h¡§& àË¶oH$ H$m CÎma 50

go 80 eãXm| ‘| X|&

àíZ g§»¶m 42 Am¡a 43 VH$ XrK© CÎmar¶ àíZ h¡, {OZ‘| go àË¶oH$ Ho$ 5 A§H$ h¡§& àË¶oH$ H$m
CÎma 80 go 120 eãXm| ‘| X|&
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2. World Education Forum was organized in 2015 in

(A) New York, USA (B) Bangkok, Thailand

(C) Paris, France (D) Incheon, Korea 1

{díd {ejm ‘§M (dëS>© EOwHo$eZ ’$moa‘) df© 2015 ‘| H$hm± Am¶mo{OV hþAm?
(A) Ý¶y¶m°H©$, A‘arH$m (B) ~¢H$m°H$, WmB©b¢S>
(C) no[ag, ’«$m§g (D) B§{M¶moZ, H$mo[a¶m

Or / AWdm
Nutan Bal Shikshan Sangh was founded in

(A) Mumbai (B) Kanpur

(C) Bhavnagar (D) Ahmedabad

ZyVZ ~mb {ejU g§K H$s ñWmnZm H$hm± H$s JB© Wr?
(A) ‘w§~B© (B) H$mZnwa
(C) ^mdZJa (D) Ah‘Xm~mX

3. Maternal mortality rate refers to

(A) death rate of mother due to lack of nutrition

(B) death of infant due to lack of proper growth and development

(C) death of women that occurs due to complications during pregnancy

and child birth

(D) birth and death rate of unborn child 1

‘mV¥ ‘¥Ë¶w Xa go VmËn¶© h¡
(A) nmofU H$s H$‘r go ‘mVm H$s ‘¥Ë¶w Xa
(B) C{MV d¥{Õ Am¡a {dH$mg H$s H$‘r go {eew H$s ‘¥Ë¶w
(C) ~ƒo Ho$ OÝ‘ Am¡a J^m©dñWm Ho$ Xm¡amZ O{Q>bVmAm| Ho$ H$maU ‘{hbmAm| H$s ‘¥Ë¶w
(D) AOÝ‘| ~ƒm| H$s OÝ‘ Am¡a ‘¥Ë¶w Xa

Or / AWdm
Article 24 pertains to

(A) raising of the level of nutrition

(B) prohibition of employment of children in factories

(C) provide early childhood care and education

(D) the tender age of children is not abused
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AZwÀN>oX 24 {H$ggo g§~§{YV h¡?
(A) nmofU Ho$ ñVa H$mo ~‹T>mZo go
(B) ~ƒm| H$m ’¡$p³Q´>¶m| ‘| amoµOJma ‘| {ZfoY go
(C) àma§{^H$ {eew XoI^mb Am¡a {ejm àXmZ H$aZo go
(D) H$ƒr C‘« Ho$ ~ƒm| Ho$ gmW Xþì¶©dhma Z hmo

4. At birth and during the first year of life

(A) the child is at greatest risk of mortality

(B) the child is at highest level of immunity to disease

(C) the child has low risk of mortality

(D) the child is dependent only for nutrition 1

OÝ‘ Ho$ g‘¶ Am¡a OrdZ Ho$ àW‘ df© Ho$ Xm¡amZ

(A) ~ƒo H$s ‘¥Ë¶w H$m A{YH$ IVam hmoVm h¡

(B) ~ƒm amoJ-à{Vajm Ho$ CƒV‘ ñVa na hmoVm h¡

(C) ~ƒo H$s ‘¥Ë¶w H$m H$‘ IVam hmoVm h¡

(D) ~ƒm Ho$db nmofU na Am{lV hmoVm h¡

Or / AWdm

The full form of IMR is

(A) Infant Malnutrition Rate

(B) Immunization Mumps Rubella

(C) Infant Mortality Rate

(D) Infant Mortality Ratio

AmB0 E‘0 Ama0 H$m nyU© ê$n ³¶m h¡?
(A) B§’¢$Q> ‘¡b²Ý¶w{Q´>eZ aoQ> (B) Bå¶yZmBOoeZ ‘åßg é~obm
(C) B§’¢$Q> ‘m°aQ>¡{bQ>r aoQ> (D) B§’¢$Q> ‘m°aQ>¡{bQ>r ao{eAmo

5. What is one of the recommendations in the National Nutrition

Policy, 1993? 1

(A) Emphasizing the importance of physical exercise for children

(B) Promoting use of technology in nutrition education

(C) Expanding ICDS and similar programmes

(D) Focusing on academic curriculum related to nutrition science
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amï´>r¶ nmofU Zr{V, 1993 ‘| {ZåZ{b{IV ‘| go H$m¡Z-gr {g’$m[ae H$s JB© h¡?

(A) ~ƒm| Ho$ {bE emar[aH$ ì¶m¶m‘ H$mo ‘hÎd XoZm

(B) nmofU {ejm ‘| àm¡Úmo{JH$s H$m àMma-àgma H$aZm

(C) EH$sH¥$V ~mb {dH$mg godmE± (AmB0 gr0 S>r0 Eg0) Am¡a g‘ê$n àmoJ«m‘m| H$m {dñVma

(D) nmofU {dkmZ go g§~§{YV e¡j{UH$ nmR>çH«$‘ na Ü¶mZ H|${ÐV H$aZm

Or / AWdm

What is emphasized as the undeniable right of every child in the National
Policy for Children (NPC), 2013?

(A) Exclusive focus on physical health and survival

(B) Access to advanced technological education

(C) Comprehensive rights including survival, health, nutrition,
development, education, protection and participation

(D) Strict enforcement of academic standards

amï´>r¶ ~mb Zr{V (EZ0 nr0 gr0), 2013 ‘| àË¶oH$ ~ƒo Ho$ A{ddm{XV A{YH$ma Ho$ ê$n ‘| ³¶m OmoaXma
ê$n go ~Vm¶m J¶m h¡?

(A) emar[aH$ ñdmñÏ¶ Am¡a CÎmaOr{dVm H$mo boH$a AZÝ¶ Ü¶mZ

(B) CÞV àm¡Úmo{JH$s {ejm H$s nhþ±M

(C) CÎmaOr{dVm, ñdmñÏ¶, nmofU, {dH$mg, {ejm, gwajm Am¡a ^mJrXmar g{hV g‘¥{Õ Ho$ gånyU©
A{YH$ma

(D) {ejm ‘mZH$m| H$m H$‹S>m àdV©Z

6. What is the primary vision of the National Early Childhood Care and
Education (ECCE) Policy as stated in 2013? 1

(A) Focusing on academic achievements for children under six years of age

(B) Providing exclusive opportunities for gifted children

(C) Achieving holistic development and active learning capacity for all
children below six years of age

(D) Prioritizing specialized care facilities over family environments
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amï´>r¶ àma§{^H$ ~mb XoI^mb Am¡a {ejm Zr{V (2013) H$m àmW{‘H$ Ñ{ï>H$moU ³¶m h¡?

(A) N>h df© go H$‘ Am¶w Ho$ ~ƒm| H$s e¡{jH$ CËH¥$ï>VmAm| na Ü¶mZ H|${ÐV H$aZm

(B) à{V^membr ~ƒm| Ho$ {bE {deof Adga àXmZ H$aZm

(C) N>h df© go H$‘ Am¶w Ho$ g^r ~ƒm| Ho$ {bE g‘J« {dH$mg Am¡a g{H«$¶ {ejm g‘Vm àmá H$aZm

(D) n[adma dmVmdaU Ho$ ñWmZ na {deofk XoI^mb gw{dYmAm| H$mo àmW{‘H$Vm XoZm

Or / AWdm

What is the main aim of the National Health Policy (NHP)?

(A) Promotion of exclusive health care services for urban areas

(B) Implementation of medical pluralism and technological advancements

(C) Shaping health systems, investing in health and organizing health care

services

(D) Focusing solely on disease prevention strategies

amï´>r¶ ñdmñÏ¶ Zr{V (EZ0 EM0 nr0) H$m ‘w»¶ CÔoí¶ ³¶m h¡?

(A) ehar ~ƒm| Ho$ {bE {deof ñdmñÏ¶ XoI^mb godmAm| H$mo ~‹T>mdm XoZm

(B) {M{H$Ëgm ~hþbdmX Am¡a VH$ZrH$s àJ{V¶m| H$m H$m¶m©Ýd¶Z

(C) ñdmñÏ¶ àUm{b¶m| H$mo AmH$ma XoZm, ñdmñÏ¶ ‘| {Zdoe H$aZm Am¡a ñdmñÏ¶ godmAm| H$mo ì¶dpñWV H$aZm

(D) Ho$db amoJ {ZdmaU aUZr{V¶m| na Ü¶mZ H|${ÐV H$aZm

7. What is the significance of fine motor skills in development of children? 1

(A) Fine motor skills involve large muscle for actions like walking and

climbing

(B) Fine motor skills focus on development of internal organs such as

lungs

(C) Fine motor skills help to control movements of the body such as

crawling and running

(D) Fine motor skills involve small muscles and contribute to abilities like

eye-hand coordination and holding objects



376/SS/A/622 9 [ P.T.O.

~ƒm| Ho$ {dH$mg ‘| gyú‘ ‘m§gno{e¶m| Ho$ H$m¡eb H$m ³¶m ‘hÎd h¡?

(A) gyú‘ ‘m§gno{e¶m| Ho$ H$m¡eb ‘| ‘w»¶ ê$n go ~‹S>r ‘m§gno{e¶m| go g§~§{YV J{V{d{Y¶m± O¡go {H$ MbZm
Am¡a M‹T>Zm em{‘b hmoVo h¢

(B) gyú‘ ‘m§gno{e¶m| Ho$ H$m¡eb ‘| Am§V[aH$ A§Jm| Ho$ {dH$mg na Ü¶mZ Ho$§{ÐV h¡ O¡go {H$ ’o$’$‹S>o

(C) gyú‘ ‘m§gno{e¶m| Ho$ H$m¡eb Ûmam a|JZo Am¡a Xm¡‹S>Zo O¡gr emar[aH$ J{V{d{Y¶m| ‘| ‘XX hmoVr h¡

(D) gyú‘ ‘m§gno{e¶m| Ho$ H$m¡eb ‘| N>moQ>r ‘m§gno{e¶m± em{‘b hmoVr h¢ Am¡a Am±I-hmW g‘Ýd¶, dñVwAm|
H$mo nH$‹S>Zo O¡gr j‘VmAm| ‘| ¶moJXmZ H$aVr h¢

Or / AWdm

What is a defining characteristic of formal thought in the formal

operational stage?

(A) Concrete operational reasoning

(B) Hypothetico-deductive reasoning

(C) Limited mental operations

(D) Inability to solve abstract problems

‘yV© g§{H«$¶mË‘H$ AdñWm ‘| ‘yV© {dMma H$s n[a^mfmË‘H$ {deofVm ³¶m h¡?

(A) ‘yV© g§{H«$¶mË‘H$ VH©$e{º$

(B) n[aH$pënV-{ZJ‘ZmË‘H$ VH©$e{º$

(C) gr{‘V ‘mZ{gH$ à{H«$¶mE±

(D) A‘yV© g‘ñ¶mAm| H$m g‘mYmZ H$aZo H$s Ag‘W©Vm

8. What is known as two-week period after conception? 1

(A) Fetal stage (B) Embryonic stage

(C) Germinal stage (D) Maternal stage

J^m©YmZ Ho$ ~mX Xmo hâVm| H$s Ad{Y H$mo ³¶m H$hm OmVm h¡?

(A) J^m©dñWm (B) ^«yUmdñWm

(C) qS>~mdñWm (D) ‘mV¥ AdñWm
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Or / AWdm

When does conception occur?

(A) Two weeks after fertilization

(B) Thirty-six hours after fertilization

(C) Around seven days after fertilization

(D) At the beginning of implantation

J^m©YmZ H$~ hmoVm h¡?

(A) {ZfoMZ Ho$ Xmo háo ~mX (B) {ZfoMZ Ho$ N>Îmrg K§Q>o ~mX

(C) {ZfoMZ Ho$ bJ^J gmV {XZ ~mX (D) AmamonU H$s ewéAmV ‘|

9. What is formed when a sperm cell combines with an egg cell? 1

(A) Embryo (B) Fetus

(C) Zygote (D) Blastocyst

O~ EH$ ewH«$mUw H$mo{eH$m EH$ A§S> H$mo{eH$m Ho$ gmW {‘bVr h¡, Vmo ³¶m ~ZVm h¡?

(A) ^«yU (B) J^© (’$sQ>g)

(C) ¶w½‘ZO (µOmBJmoQ>) (D) ãbmñQ>mo{gñQ>

Or / AWdm

What happens about thirty-six hours after conception?

(A) Implantation begins (B) Fertilization occurs

(C) Zygote division starts (D) Uterine wall thickens

J^m©YmZ Ho$ N>Îmrg K§Q>o ~mX ³¶m hmoVm h¡?

(A) AmamonU ewê$ hmoVm h¡ (B) [ZfoMZ hmoVm h¡

(C) ¶w½‘ZO (µOmBJmoQ>) {d^mOZ hmoVm h¡ (D) J^m©e¶ H$s Xrdma ‘moQ>r hmoVr h¡
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10. Which statement is true for nutrition of infants? 1

(A) Weaning should start before six months of age.

(B) Breast milk is proven to be a complete food for infants.

(C) Semi-solid foods are more nutritious than breast milk.

(D) Babies require nutrition supplement from birth.

{eew-nmofU Ho$ ~mao ‘| H$m¡Z-gm H$WZ ghr h¡?

(A) ñVZnmZ Nw>‹S>mZm N>h ‘hrZo nhbo ewê$ hmoZm Mm{hE&

(B) ‘m± H$m XÿY {eewAm| Ho$ {bE nyU© Amhma gm{~V hmoVm h¡&

(C) AY©-R>mog Amhma ‘m± Ho$ XÿY go A{YH$ nm¡{ï>H$ h¡&

(D) {eew H$mo n¡Xm hmoZo Ho$ Vwa§V ~mX nmofU-nyaH$ Amhma (gßbr‘|Q>) H$s Amdí¶H$Vm hmoVr h¡&

Or / AWdm

What should be included in the diet of lactating mothers for sufficient milk

production?

(A) Only meat, fish and eggs

(B) Cereals, pulses, fruits, vegetables, nuts and dairy products

(C) Strictly vegetarian diet

(D) Only fluid intake without solid foods

n¶m©á XÿY CËnmXZ Ho$ {bE ñVZnmZ H$amZo dmbr ‘mVmAm| Ho$ Amhma ‘| ³¶m em{‘b H$aZm Mm{hE?

(A) Ho$db ‘m§g, ‘N>br Am¡a A§S>o

(B) AZmO, Xmb|, ’$b, gpãO¶m±, ‘odo Am¡a S>o¶ar CËnmX

(C) nyU©V… emH$mhmar ^moOZ

(D) R>mog Amhma Ho$ {~Zm, Ho$db Vab nXmW© H$m godZ
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11. Which of the following is not a component of language development in

early childhood education? 1

(A) Oral expression (B) Listening skill

(C) Mathematical concept (D) Vocabulary

{eew H$s àma§{^H$ {ejm ‘| ^mfm Ho$ {dH$mg Ho$ KQ>H$ Ho$ ê$n ‘| ³¶m C„oI Zht h¡?

(A) ‘m¡{IH$ A{^ì¶{º$ (B) gwZZo H$s j‘Vm

(C) J{UVr¶ AdYmaUm (D) eãXH$moe

Or / AWdm

Which of the following is not an activity for affective domain in child

development?

(A) Dramatizing stories (B) Singing songs

(C) Solving math problems (D) Reciting poems in rhythm

{ZåZ{b{IV ‘| go H$m¡Z-gm ~ƒm| Ho$ ^mdZmË‘H$ joÌ Ho$ {dH$mg Ho$ {bE J{V{d{Y Ho$ ê$n ‘| g‘Pm¶m
Zht OmVm h¡?

(A) H$hm{Z¶m| H$m ZmQ>H$sH$aU (B) JmZm Jm¶m OmZm

(C) J{UV H$s g‘ñ¶mAm| H$mo hb H$aZm (D) b¶ ‘| H${dVm JmZm

12. How can Early Childhood Care and Education (ECCE) Centre gauge

children’s progress? 1

(A) Conducting weekly examinations

(B) Regular observations and daily record-keeping

(C) Monthly parent-teacher meetings

(D) Ignoring individual child assessments

EH$ àma§{^H$ ~mb XoI^mb Am¡a {ejm (B©0 gr0 gr0 B©0) H|$Ð ‘| ~ƒm| H$s àJ{V H$mo H¡$go ‘mnm
Om gH$Vm h¡?

(A) gmám{hH$ narjU Am¶moOZ Ho$ Ûmam

(B) {Z¶{‘V AdbmoH$Z Am¡a X¡{ZH$ [aH$m°S>© aIZo go

(C) ‘mVm-{nVm Ho$ gmW {ejH$ Ho$ ‘m{gH$ ~¡R>H$ go

(D) ì¶{º$JV {eew ‘yë¶m§H$Z H$mo AZXoIm H$aZo go
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Or / AWdm

In what domains should observations be made to assess children’s

development?

(A) Cognitive only (B) Social only

(C) All domains of development (D) Physical only

~ƒm| Ho$ {dH$mg H$m ‘yë¶m§H$Z H$aZo Ho$ {bE AdbmoH$Z {H$g joÌ ‘| {H$¶m OmZm Mm{hE?

(A) Ho$db g§kmZmË‘H$ joÌ (B) Ho$db gm‘m{OH$ joÌ

(C) g^r {dH$mg joÌ (D) Ho$db emar[aH$ joÌ

13. Which management style is characterized as the most controlling? 1

(A) Democratic (B) Laissez-faire

(C) Autocratic (D) Collaborative

g~go A{YH$ "{Z¶§{ÌV' {H$g à~§YZ e¡br Ho$ ê$n ‘| nm¶m OmVm h¡?

(A) bmoH$Vm§{ÌH$ (B) b¡goO-’o$¶a

(C) ñdm¶Îm (D) gh¶moJr

Or / AWdm

What do the overall safety and well-being of the children encompass in

pre-school’s management responsibilities?

(A) Only physical safety

(B) Overall safety, including physical and emotional well-being

(C) Only emotional well-being

(D) Safety only during specific hours

àr-ñHy$b H$s à~§YZ {Oå‘oXm[a¶m| ‘| ~ƒm| H$s g‘J« gwajm Am¡a ^bmB© ‘| ³¶m em{‘b h¡?

(A) Ho$db emar[aH$ gwajm

(B) emar[aH$ Am¡a ^mdZmË‘H$ H$ë¶mU g{hV g‘J« gwajm

(C) Ho$db ^mdZmË‘H$ H$ë¶mU

(D) Ho$db {d{eï> K§Q>m| Ho$ Xm¡amZ gwajm
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14. What is the responsibility of ECCE teachers in creating a supportive and

nurturing learning environment? 1

(A) Leaving the classroom as it is

(B) Allocating space for different activities

(C) Ignoring children’s learning styles

(D) Limiting the use of teaching materials

àma§{^H$ ~mb XoI^mb Am¡a {ejm (B©0 gr0 gr0 B©0) {ejH$mo| H$s g‘W©ZnyU© Am¡a g§a{jV {ejm
dmVmdaU ~ZmZo ‘| ³¶m {Oå‘oXmar h¡?

(A) H$jm H$mo Eogo hr N>mo‹S>Zm

(B) {d{^Þ J{V{d{Y¶m| Ho$ {bE ñWmZ Am~§{Q>V H$aZm

(C) ~ƒm| H$s grIZo H$s e¡{b¶m| H$mo AZXoIm H$aZm

(D) {ejU gm‘J«r H$m Cn¶moJ gr{‘V H$aZm

Or / AWdm

What does an ECCE teacher need to ensure when using teaching and

learning materials?

(A) Only high-cost materials

(B) Ignoring material procurement

(C) Age-inappropriate equipments

(D) Age-appropriate and safe materials

{gImZo Am¡a grIZo H$s gm‘J«r H$m Cn¶moJ H$aVo g‘¶ B©0 gr0 gr0 B©0 {ejH$ H$mo ³¶m gw{ZpíMV H$aZm Mm{hE?

(A) Ho$db Cƒ ‘yë¶ H$s gm‘J«r (B) gm‘J«r àm{á H$mo AZXoIm H$aZm

(C) Am¶w-à{VHy$b CnH$aU (D) Am¶w-AZwHy$b Am¡a gwa{jV gm‘J«r

15. At what age does the transition from home to pre-school typically occur? 1

(A) Around age one year (B) Around age three years

(C) Around age five years (D) Around age six years

gm‘mÝ¶V… Ka go àr-ñHy$b H$s Amoa ñWmZm§VaU {H$g Am¶w ‘| hmoVm h¡?
(A) bJ^J EH$ df© H$s Am¶w Ho$ Amg-nmg (B) bJ^J VrZ df© H$s Am¶w Ho$ Amg-nmg
(C) bJ^J nm±M df© H$s Am¶w Ho$ Amg-nmg (D) bJ^J N>h df© H$s Am¶w Ho$ Amg-nmg
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Or / AWdm
What can help to reduce stress and anxiety for parents during a transition

period?

(A) Sudden changes in routine

(B) Lack of information about expected changes

(C) School effort to support them

(D) Minimal communication about the transition

EH$ ñWmZm§VaU H$s Ad{Y Ho$ Xm¡amZ ‘mVm-{nVm Ho$ {bE VZmd Am¡a qMVm H$mo H$‘ H$aZo ‘| H$m¡Z-gr
~mV ‘XX H$aVr h¡?
(A) {XZM¶m© ‘| AMmZH$ n[adV©Z
(B) Ano{jV n[adV©Zm| Ho$ ~mao ‘| OmZH$mar H$s H$‘r
(C) ñHy$b Ho$ à¶mg CÝh| g‘W©Z XoZo Ho$ {bE
(D) ñWmZm§VaU Ho$ ~mao ‘| Ý¶yZV‘ g§dmX

16. What is potential outcome of promoting multilingual proficiency in children? 1

(A) Decreased retention in school

(B) Limited communication with teachers

(C) Improved self-confidence

(D) Exclusion from outside world

~ƒm| ‘| ~hþ^mfr XjVm H$mo ~‹T>mdm XoZo H$m g§^m{dV n[aUm‘ ³¶m h¡?
(A) ñHy$b ‘| R>hamd ‘| H$‘r
(B) {ejH$m| Ho$ gmW gr{‘V g§Mma
(C) AmË‘{dídmg ‘| gwYma
(D) ~mhar Xþ{Z¶m go ~{hîH$ma

Or / AWdm
What should be the approach for first-generation learners in the initial

years of education?

(A) Emphasize learning multiple languages

(B) Focus on English language proficiency

(C) Prioritize mother tongue for teaching

(D) Discourage language learning at home

{ejm Ho$ àma§{^H$ dfm] ‘| nhbr nr‹T>r Ho$ {ejm{W©¶m| Ho$ {bE gwPm¶m J¶m Ñ{ï>H$moU ³¶m h¡?

(A) AZoH$ ^mfmE± grIZo na Omoa X|

(B) A§J«oOr ^mfm XjVm na Ü¶mZ X|

(C) {ejU Ho$ {bE ‘mV¥^mfm H$mo àmW{‘H$Vm X|

(D) Ka na ^mfm grIZo H$mo hVmoËgm{hV H$aZm
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Read the passage given below. Based on your understanding of the passage,

answer the questions 17 to 19 :

Pre-school and kindergarten teachers are at an advantageous position to

catch the early signs and symptoms of a developmental delay or disability

and to identify children who are at risk in learning and school. Teachers

need to be aware of symptoms and share their observations and concerns

with parents and other specialists. The purpose of early identification is to

determine which children have developmental problems that may be

obstacles to learning or that places children at risk. Development in early

childhood years is characterized by broad variability in rates and patterns

of maturation. At present no clear distinction can be made in early years

between children whose problems may persist and those who will make

adequate progress with time. Therefore young children who demonstrate

difficulties in early development may or may not be at risk for learning

disabilities.

{ZåZ{b{IV JÚm§e H$mo n{‹T>E& JÚm§e H$s AnZr g‘P Ho$ AmYma na, àíZ g§0 17 go 19 VH$ Ho$
CÎma Xr{OE :

{dH$mgmË‘H$ {db§~ ¶m Aj‘Vm Ho$ nyd© g§Ho$Vm| Am¡a bjUm| H$mo nhMmZZo Ho$ {bE nyd©-ñHy$br Am¡a
qH$S>aJmQ>}Z Ho$ {ejH$ EH$ AZwHy$b pñW{V ‘| h¡§, Am¡a CZ‘| CZ ~ƒm| H$s nhMmZ H$aZo H$s j‘Vm h¡
Omo grIZo Am¡a ñHy$b ‘| Omo{I‘ ‘| h¡§& {ejH$m| H$mo bjUm| Ho$ ~mao ‘| OmJê$H$ ahZm Mm{hE Am¡a CÝh|
‘mVm-{nVm Am¡a AÝ¶ ñHy$b {deofkm| Ho$ gmW AnZm AdbmoH$Z Am¡a qMVmE± gmPm H$aZr Mm{hE& nhbo
nhMmZ H$m CÔoí¶ ¶h V¶ H$aZm h¡ {H$ H$m¡Z-H$m¡Z go ~ƒm| ‘| {dH$mg H$s g‘ñ¶mE± h¢ Omo {ejm ‘|
~mYm S>mb gH$Vr h¢ ¶m ~ƒm| H$mo IVao ‘| S>mb gH$Vr h¢& {eewH$mb ‘| {dH$mg H$mo ì¶mnH$ ê$n go
n[an¹$Vm H$s Xam| Am¡a KQ>ZmAm| Ho$ n¡Q>Z© ‘| ì¶mnH$ Ag‘mZVm  Ho$ ê$n ‘| d{U©V {H$¶m OmVm h¡& dV©‘mZ
‘|, nhbo dfm] ‘| CZ ~ƒm| Ho$ ~rM H$moB© ñnï> {d^mOZ Zht {H$¶m Om gH$Vm h¡ {OZH$s g‘ñ¶mE± ~Zr
ah gH$Vr h¢ Am¡a {OZ‘| g‘¶ Ho$ gmW n¶m©á àJ{V hmo gH$Vr h¡& Bg{bE Omo N>moQ>o ~ƒo {eewH$mb
‘| àma§{^H$ {dH$mg ‘| g‘ñ¶mE± {XImVo h¢, CZ‘| go Hw$N> {ejm H$s Aj‘Vm Ho$ {bE IVao ‘| hmo gH$Vo
h¢ Am¡a Zht ^r hmo gH$Vo h¢&

17. Attempt any two of the following : 1×2=2

(a) What is the purpose of early identification mentioned in the

paragraph?

(b) Is there a clear distinction between children whose developmental

problems may persist and those who will make progress?

(c) _____ and _____ teachers play a crucial role in identifying

developmental delays in young children. (Fill in the blanks)
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{ZåZ{b{IV ‘| go {H$Ýht Xmo Ho$ CÎma Xr{OE :

(H$) n¡amJ«m’$ ‘| nhbo nhMmZ H$aZo H$m ³¶m CÔoí¶ ~Vm¶m J¶m h¡?

(I) ³¶m CZ ~ƒm| Ho$ ~rM H$moB© A§Va ñnï> h¡ {OZH$s {dH$mg-g§~§Yr g‘ñ¶mE± ~Zr ah gH$Vr h§¡
Am¡a Omo àJ{V H$a|Jo?

(J) _____ Am¡a _____ {ejH$ N>moQ>o ~ƒm| Ho$ {dH$mgmË‘H$ {db§~ H$s nhMmZ ‘| ‘hÎdnyU© ^y{‘H$m
{Z^mVo h¢& ([aº$ ñWmZm| H$s ny{V© H$s{OE)

18. Attempt any two of the following : 1×2=2

(a) What should teachers do if they observe symptoms of developmental

delays?

(b) Why are pre-school and kindergarten teachers considered as

advantageous in identifying developmental delays?

(c) In early childhood years, development is characterized by broad

variability in _____ and _____ of maturation. (Fill in the blanks)

{ZåZ{b{IV ‘| go {H$Ýht Xmo Ho$ CÎma Xr{OE :

(H$) ¶{X {ejH$mo| H$mo {dH$mgmË‘H$ {db§~ Ho$ bjU {XImB© XoVo h¢, Vmo CÝh| ³¶m H$aZm Mm{hE?

(I) nyd©-ñHy$br Am¡a qH$S>aJmQ>}Z {ejH$m| H$mo {dH$mgmË‘H$ {db§~ H$s nhMmZ H$aZo ‘| bm^àX ³¶m|
‘mZm OmVm h¡?

(J) {eewH$mb ‘| {dH$mg H$mo ì¶mnH$ ê$n go n[an³dVm H$s _____ Am¡a _____ ‘| ì¶mnH$ Ag‘mZVm
Ho$ ê$n ‘| d{U©V {H$¶m OmVm h¡& ([aº$ ñWmZm| H$s ny{V© H$s{OE)

19. (a) What is the challenge in the early identification of developmental

problems in young children? 1×2=2

(b) Why is early identification of developmental delays important for

children in the pre-school and kindergarten years?

(H$) N>moQ>o ~ƒm| ‘| {dH$mgmË‘H$ g‘ñ¶mAm| H$s àma§{^H$ nhMmZ ‘| ³¶m MwZm¡Vr h¡?

(I) nyd©-ñHy$br Am¡a ~mbdm‹S>r Ho$ dfm] ‘| ~ƒm| Ho$ {bE {dH$mgmË‘H$ {db§~ H$s àma§{^H$ nhMmZ ³¶m|
‘hÎdnyU© h¡?
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20. Match Column—A with Column—B : 1×4=4

Column—A Column—B

(a) Lack of resources (i) Primary health care and immunization

(b) Child mortality (ii) Multilingual pluralistic society

(c) India (iii) Ill health, unhygienic living conditions

(d) ICDS centres (iv) Total number of child deaths under the

age of five years per 1000 live birth

H$m°b‘-A H$m H$m°b‘-~ go {‘bmZ H$s{OE :

H$m°b‘—A H$m°b‘—~

(a) g§gmYZm| H$s H$‘r (i) àmW{‘H$ ñdmñÏ¶ XoI^mb Am¡a Q>rH$mH$aU

(b) ~mb ‘¥Ë¶w Xa (ii) ~hþ-^m{fH$ ~hþbVmdmXr g‘mO

(c) ^maV (iii) Iam~ ñdmñÏ¶ Am¡a ahZo H$s AñdmñÏ¶H$a XemE±

(d) AmB0 gr0 S>r0 Eg0 Ho$ÝÐ (iv) à{V 1000 Or{dV OÝ‘m| na nm±M gmb go H$‘
C‘« Ho$ ~ƒm| H$s Hw$b ‘m¡V§o

Or / AWdm

Match Column–A with Column–B : 1×4=4

Column—A Column—B

(a) Article 14 (i) The tender age of children is not abused

(b) Article 45 (ii) Raising of the level of nutrition

(c) Article 47 (iii) Shall not deny to any person equality

(d) Article 39 (iv) Free and compulsory education

H$m°b‘—A H$m°b‘—~

(a) Ymam 14 (i) ~ƒm| H$s H$ƒr C‘« H$m Xþén¶moJ Zht {H$¶m OmE

(b) Ymam 45 (ii) nmofU Ho$ ñVa ‘| d¥{Õ

(c) Ymam 47 (iii) {H$gr ^r ì¶{º$ H$s g‘mZVm go BZH$ma Zht H$aoJm

(d) Ymam 39 (iv) {Z…ewëH$ Am¡a A{Zdm¶© {ejm
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21. Write True (T) or False (F) for any two of the following : 1×2=2

(a) Early years of children’s life are very important due to fast growth and

development in all domains.

(b) ECCE means ensuring health and nutrition only.

(c) Home and school environment do not affect development of children.

{ZåZ{b{IV ‘| go {H$Ýht Xmo Ho$ {bE ghr AWdm JbV {b{IE :

(H$) ~ƒm| Ho$ OrdZ Ho$ àma§{^H$ df© A{V ‘hÎdnyU© h¢, ³¶m|{H$ Bg Xm¡amZ CZHo$ g^r d¥{Õ Am¡a {dH$mg

Ho$ Am¶m‘m| ‘| Vrd« d¥{Õ Am¡a {dH$mg hmoVm h¡&

(I) B©0 gr0 gr0 B©0 H$m A{^àm¶ ñdmñÏ¶ Am¡a nmofU-g§~§Yr Adgam| H$mo hr Ho$db CnbãY

H$amZm h¡&

(J) Ka Am¡a ñHy$b H$m dmVmdaU ~ƒm| Ho$ {dH$mg H$mo à^m{dV Zht H$aVm h¡&

22. Write True (T) or False (F) for any one of the following : 1

(a) Rajiv Gandhi National Creche Scheme for the Children of Working

Mothers aims to establish creches and provide quality day care

facilities for children of working mothers.

(b) Samagra Shiksha Abhiyan encompasses education extending from

pre-school to degree level.

{ZåZ{b{IV ‘| go {H$gr EH$ Ho$ {bE ghr AWdm JbV {b{IE :

(H$) H$m‘H$mOr ‘mVmAm| Ho$ ~ƒm| Ho$ {bE amOrd Jm±Yr amï´>r¶ {eewJ¥h ¶moOZm H$m CÔoí¶ H$m‘H$mOr

‘mVmAm| Ho$ ~ƒm| Ho$ {bE {eewJ¥h H$s ñWmnZm VWm {XZ ‘| JwUdÎmmnyU© XoI^mb H$s gw{dYm àXmZ

H$aZm h¡&

(I) g‘J« {ejm A{^¶mZ nyd©-ñHy$b go boH$a {S>J«r ñVa VH$ H$s {ejm H$mo g‘m{hV H$aVm h¡&
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23. The National Early Childhood Care and Education Framework aims to
promote quality and excellence in early childhood care and education. 1

[Write True (T) or False (F)]

amï´>r¶ àma§{^H$ ~më¶mdñWm XoI^mb Am¡a {ejm nmR>²¶H«$‘ H$s ê$naoIm H$m CÔoí¶ B©0 gr0 gr0 B©0
‘| JwUdÎmm Am¡a CËH¥$ï>Vm H$mo ~‹T>mdm XoZm h¡& [ghr µ(T) AWdm JbV (F) {b{IE]

24. Fill in the blanks any two of the following : 1×2=2

(a) _____ described morality through heteronomous and autonomous

morality.

(b) During _____ stage, children believe rules as being universal and fixed.

(c) Children’s interaction with people starts with _____.

{ZåZ{b{IV ‘| go {H$Ýht Xmo H$s [aº$ ñWmZ H$s ny{V© H$s{OE :

(H$) _____ Zo Z¡{VH$Vm H$mo {Z¶‘ nmbZ H$s Z¡{VH$Vm Am¡a aOm‘§Xr H$s Z¡{VH$Vm Ho$ Ûmam ì¶º$ {H$¶m h¡&

(I) _____ AdñWm Ho$ Xm¡amZ ~ƒo ‘mZVo h¡§ {H$ {Z¶‘ gmd©^m¡{‘H$ Am¡a {ZpíMV h¡§&

(J) bmoJm| Ho$ gmW ~ƒm| H$s ~mVMrV _____ go ewê$ hmoVr h¡&
25. Fill in the blank any one of the following : 1

(a) A _____-month-old child can stand holding furniture.

(b) Language is the tool for _____.

{ZåZ{b{IV ‘| go {H$gr EH$ H$s [aº$ ñWmZ H$s ny{V© H$s{OE :

(H$) EH$ _____ ‘mh H$m ~ƒm ’$ZuMa nH$‹S>H$a I‹S>m hmo gH$Vm h¡&

(I) ^mfm _____ H$m gmYZ h¡&
26. When children are in _____ years age group, they are ready to go to

pre-school. (Fill in the blank) 1

O~ ~ƒo _____ df© H$s C‘« Ho$ Xm¶ao ‘| hmoVo h¢, do àr-ñHy$b ‘| OmZo Ho$ {bE V¡¶ma hmo MwHo$ hmoVo h¢&
([aº$ ñWmZ H$r ny{V© H$s{OE)

Write one word answer for the Question Nos. 27 to 29.

àíZ g§§»¶m 27 go 29 VH$ Ho$ {bE EH$ eãX ‘| CÎma X| :
27. Attempt any three questions : 1×3=3

(a) What does a high-quality ECCE programme provide?

(b) What are two main types of child care settings?

(c) Who should maintain close communication at an ECCE centre?

(d) What environment should parents and teachers create?
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{H$Ýhr§ VrZ àíZm| Ho$ CÎma Xr{OE :

(H$) EH$ Cƒ JwUdÎmm dmbm B©0 gr0 gr0 B©0 H$m¶©H«$‘ ³¶m àXmZ H$aVm h¡?

(I) Xmo à‘wI àH$ma Ho$ ~ƒm| H$s XoIaoI H$s go{Q>§½g ³¶m h¢?

(J) EH$ B©0 gr0 gr0 B©0 Ho$ÝÐ ‘| {H$ZHo$ ~rM ZµOXrH$s g§àofU ~Zm hmoZm Mm{hE?

(K) ‘mVm-{nVm Am¡a {ejH$ H$mo {H$g àH$ma H$m dmVmdaU ~ZmH$a aIZm Mm{hE?

28. Attempt any two questions : 1×2=2

(a) Write an activity for cognitive development.

(b) Write an activity for language development.

(c) Which activity can promote stimulation of affective domain?

{H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE :

(H$) g§kmZmË‘H$ {dH$mg ‘| ‘XX H$aZo dmbr H$moB© ^r EH$ J{V{d{Y H$m Zm‘ {b{IE&

(I) ^mfm Ho$ {dH$mg ‘| ‘XX H$aZo dmbr J{V{d{Y H$m Zm‘ {b{IE&

(J) H$m¡Z-gr J{V{d{Y Ho$ Ûmam ‘ZmoJË¶mË‘H$ (^mdmË‘H$) {dH$mg hmo gH$Vm h¡?

29. Attempt any one question : 1

(a) Which activity can promote creative appreciation?

(b) How can children engage in creative movement?

{H$gr EH$ H$m CÎma Xr{OE :

(H$) H$m¡Z-gr J{V{d{Y Ho$ Ûmam g¥OZmË‘H$ gamhZm Ho$ {dH$mg ‘| ‘XX hmo gH$Vr h¡?

(I) ~ƒo {H$g àH$ma H$s g¥OZmË‘H$ J{V ‘| bJ gH$Vo h¢?

30. Why is it necessary to document and keep records for all children?

Give any two specific reasons. 2

g^r ~ƒm| Ho$ {bE XñVmdoO Am¡a [aH$m°S>© aIZm ³¶m| Amdí¶H$ h¡? H$moB© ^r Xmo {d{eï> H$maU ~VmBE&

Or / AWdm

What do the school records include?

ñHy$b [aH$m°S>© ‘| ³¶m em{‘b h¢?



31. What quality should ECCE teachers possess to conduct activities

smoothly? 2

J{V{d{Y H$mo gwMmê$ ê$n go g§Mm{bV H$aZo Ho$ {bE B©0 gr0 gr0 B©0 {ejH$m| ‘| H$m¡Z-go JwU hmoZo
Mm{hE?

Or / AWdm

Why are communication skills important for ECCE teachers?

B©0 gr0 gr0 B©0 {ejH$m| Ho$ {bE g§Mma H$m¡eb ³¶m| ‘hÎdnyU© h¢?

32. What are motor skills? What are the two broad types of motor skills
children develop? 2

JË¶mË‘H$ H$m¡eb ³¶m h¢? ~ƒm| ‘| {dH${gV hmoZo dmbo Xmo ì¶mnH$ àH$ma Ho$ ‘moQ>a H$m¡eb H$m¡Z-go h¡§?

33. What period does infancy encompass? Write any two reflexes of infants. 2

e¡edmdñWm {H$g Ad{Y ‘| AmVr h¡? {eew H$s H$moB© ^r Xmo à{V{H«$¶mE± {b{IE&

34. How is the growth rate of children aged three to six years compared to
that of infants? 2

VrZ go N>h df© H$s Am¶w Ho$ ~ƒm| H$s d¥{Õ Xa {eewAm| H$s VwbZm ‘| H¡$gr h¡?

35. Write down two examples each of gross motor and fine motor skills
developed by children aged three to six years. 2

VrZ go N>h df© VH$ Ho$ ~ƒm| ‘| {dH${gV hmoZo dmbo ñWyb JË¶mË‘H$ H$m¡eb Am¡a gyú‘ JË¶mË‘H$ H$m¡eb
‘| go àË¶oH$ Ho$ Xmo CXmhaU {b{IE&

36. Discuss the factors affecting transition to school. 3

Ka go ñHy$b H$s VËnaVm H$mo à^m{dV H$aZo dmbo KQ>H$m| na MMm© H$s{OE&

37. What steps will you take to ensure gender equitable participation of
children in a pre-school? 3

àr-ñHy$b ‘| ~ƒm| H$s g‘Vm‘ybH$ b¢{JH$ gh^m{JVm gw{ZpíMV H$aZo Ho$ {bE Amn H$m¡Z-go H$X‘
CR>mE±Jo?

Or / AWdm

What are the implications of multilingualism for an ECCE centre?

EH$ B©0 gr0 gr0 B©0 Ho$ÝÐ Ho$ {bE ~hþ^m{fVm Ho$ ³¶m {Z{hVmW© h¢?
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38. What is the impact of early childhood on subsequent life? 3

àma§{^H$ ~më¶mdñWm H$m ~MnZ Ho$ ~mX Ho$ OrdZ na ³¶m à^md n‹S>Vm h¡?

Or / AWdm

What is the constitutional view of childhood in India?

^maV ‘| ~më¶mdñWm H$m g§d¡Ym{ZH$ Ñ{ï>H$moU ³¶m h¡?

39. Explain the meaning of the term ECCE. 3

B©0 gr0 gr0 B©0 Ho$ AW© H$s ì¶m»¶m H$s{OE&

Or / AWdm

Discuss the key components of ECCE.

B©0 gr0 gr0 B©0 Ho$ à‘wI KQ>H$m| na MMm© H$s{OE&

40. Explain the significance of sensory stimulation. 3

g§doXr CÔrnZ Ho$ ‘hÎd H$s ì¶m»¶m H$s{OE&

41. How does play develop? 3

Iob H$m {dH$mg H¡$go hmoVm h¡?

42. Explain the types of play in early years. 5

àma§{^H$ dfm] ‘| Iob Ho$ àH$mam| H$m dU©Z H$s{OE&

Or / AWdm

Describe any two activities for social development among children.

~ƒm| ‘| gm‘m{OH$ {dH$mg Ho$ {bE H$moB© ^r Xmo J{V{d{Y¶m± ~VmBE&

43. Why should children be provided with ample fine motor and gross motor
activities? 5

N>moQ>o ~ƒm| H$mo àMwa gyú‘ JË¶mË‘H$ Am¡a ñWyb JË¶mË‘H$ J{V{d{Y¶m± àXmZ ³¶m| H$aZr Mm{hE?

Or / AWdm

Explain why we say that development in all domains takes place in
integrated manner.

ñnï> H$s{OE {H$ h‘ ¶h ³¶m| H$hVo h¢ {H$ g^r joÌm| ‘| {dH$mg EH$sH¥$V VarHo$ go hmoVm h¡&


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